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A E E Al

. GRA(SH) - MRAY - B Abod o1& o HIREY
4,027,076 4,027,076 0
AlHI 41,91 41,91 0
el 3,985,165 3,985,165 0
T &k2t el 1,120,273 1,120,273 0
AlHI 41,911 41,911 0
Tl 1,078,362 1,078,362 0
A 2te) 59,432 59,432 0
AlHI 41,911 41,911 0
T4l 17,521 17,521 0
SHMAE AEH AL 41,911 41,911 0

AlHI 41,911 41,911
Bt A 21,071 36,411 A~ 15,340
AlHI 21,071 36,411 A 15,340
f2teldl 21,071 36,411 A 15,340
ORSMLB2| 2FH(B=H)

Z& 21,071,000 21,071 36,411 A 15,340
AlHI 21,071 36,411 A 15,340
405 It SHI 15,340 0 15,340
AlHI 15,340 0 15,340
MU S EFHSHI 15,340 0 15,340
sMHer2e] 23 g) 15,340 0 15,340
S =) 2,100,000& = 1CH 2,100 0 2,100
AlHI 2,100 0 2,100
- A MIEDI 740,000 = 1CH 740 0 740
AlHI 740 0 740
- XS AR 5,400,000& = 1CH 5,400 0 5,400
AlHI 5,400 0 5,400
-CXIE Sthlet 500, 000& *1CH 500 0 500
AlHI 500 0 500
a2 IElS 6,600,000 6,600 0 6,600
AlHI 6,600 0 6,600




